
16. Economies and Diseconomies of Scale
1. Missing words
Economies of scale are factors that cause average _______________ to fall as a consequence of operating at a ___________________ scale of output. It is often assumed that they always provide benefits to large firms in every industry, however experience suggests this in not the case. The car industry certainly benefits from technical economies stemming from up-to-date, expensive machinery and purchasing economies such as _______________ _________________. In some circumstances an increase in the scale of output can actually result in an _______________ in average costs. This is referred to as ______________________________ _______ _________________. Words from: (Increase, diseconomies of scale, costs, larger, bulk buying)
2. Tick the relevant category for each of these 
	Factor
	Economy of scale
	Diseconomy of scale
	Neither

	1. Costs arising from poor communication
	
	
	

	2. Effect on the interest rate of borrowing large sums
	
	
	

	3. Impact of automation on labour costs
	
	
	

	4. Rising wages due to shortage of IT staff
	
	
	

	5. Effect on variable costs of bulk buying
	
	
	

	6. Impact of poor staff coordination
	
	
	


3. Distinguish between 

3.1 Buying in bulk 


& 

Buying materials at the lowest cost

3.2 Division of labour 


&

Multi-skilling

3.3 Economies of scale


&

Higher capacity utilisation

4. Look at these figures for three Smoothie manufacturers and answer the 3 questions below

	
	Not Guilty
	JPs 
	PureFruit

	Tonnes of smoothies produced per annum
	20,000
	35,000
	10,000

	Factory workforce
	4,000
	5,000
	2,500

	Product waste/reject % 
	 2.2%
	2.9%
	0.9%

	Cost per tonne of fruit purchased
	£815
	£809
	£820

	Interest charges on bank loans
	6.75%
	6.25%
	7.00%

	Labour turnover
	8%
	11%
	10%


4.1  Calculate the labour productivity for each Smoothie producer ______________________________________
______________________________________________________________________________________
4.2  Identify and briefly explain two factors that suggest economies of scale ______________________________
______________________________________________________________________________________
4.3  Identify one factor that clearly suggests diseconomies of scale. Briefly explain your answer. ________________
_______________________________________________________________________________________________
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